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PART I: WRITING (30 MARKYS)
PART II: READING COMPREHENSION (30 MARKYS)
A. Choose the best answer according to passage 1. (5x2=10 MARKYS)
1-c 2-b 3-b 4-a 5-a

B. Complete the table below with the information in passage 2. (10x1=10 MARKS)

1. James Cameron 6. J.J.Abrams

2. 2.788 billion dollars 7. 2015

3. Titanic 8. Jurassic World

4. 1997 9. Colin Trevorrow

5. Star Wars (The force Awakens) 10. 1067 billion dollars

C. Put a (V) in the correct box to say whether the following statements are TRUE or
FALSE according to passage 3. (5x 2=10 MARKYS)

1. FALSE 2. TRUE 3. FALSE 4. TRUE 5. FALSE



PART lll: USE OF ENGLISH (40 MARKYS)
A. Read the following text and choose the correct alternative.  (6x0.5=3 MARKYS)

1. A (arrived) 2. B (were swimming) 3. C (my)
4. C (saw) 5. B (was) 6. A (bigger)

B. Underline the correct form of the verbs in the following dialogue.
(7x1=7MARKS)

1. haven’t bought 2. bought 3. will 4. has never travelled
5. can 6. cheaper 7. Have you ever

C. Complete the second sentence so that it has a similar meaning to the first sentence
using the word in brackets. (5x2=10 MARKYS)

1. .....has never visited.....

2. .....did not invite / didn’t invite.....

3. .....is cooked......

4. .....are coming / are going to come.....

5 ... will write.....

D. Choose the correct adjective (7x1=7 MARKYS)
1. safe 2. polite 3. clean 4. beautiful 5. perfect
6. expensive 7. Difficult

E. Complete the text with the correct form of the words in brackets. (6x1=6 MARKS)
1. healthy 4. natural

2. fatty 5. personal
3. oily 6. attractive
F. Match the questions with the answers. (7x1=7 MARKYS)
l1-c 2-9 3-e 4-b 5-d 6-f 7-a






